## D.E.S.AGS College of Education (B.Ed)

## Balance Sheet 1-Apr-22 to 31-Mar-23

Liabilities	as at 3	31-Mar-23	Assets	20.01	1 24 M - 00	
Capital Account				as at 31-Mar-23		
Donation	3,900.00	3,900.00	Fixed Assets		27,71,484.14	
	3,900.00		Battery	927.3	5	
Loans (Liability)			Bike	10,364.0	1	
			Books & Periodicals	27,459.60	0	
Current Liabilities		0.00.00	Building Construction	19,30,252.4	8	
Deep Education Society	2,98,50,532.00	3,23,95,471.00		42.32	2	
Deep Education Society (Build. A/c)	24,94,939.00		CCTV Camera	8,638.6		
Deep Global School			Cealing Fan	3,402.80	5	
- 25p 2:00a; 001001	50,000.00		Clock	120.59	)	
Suspense A/c			Computer	23.92	2	
Cuspense A/C			Cycle	282.15	5	
			D.G.Set	335.71		
			D.V.D Players	590.70	)	
			Education C.D	192.58	3	
			Fridge	32,618.76		
			Furniture	2,26,863.89		
			Glass Board	1,548.01		
			Harmonium Teakwood	1,718.11		
			Head Phone	1,744.21		
			Home Theatre	803.72		
			Hundai Car	4,32,437.50		
			Inverter	2,669.89		
			Jamakkalam	5,971.52		
			Mobile	8,524.65		
			Music System	334.97		
			Printer	1,224.89		
			Science Material	7,182.88		
				6,600.29		
			Solar Lamp Sound System	3,423.57		
			Sports Material	27,107.06		
			Sundry Assets	566.09		
			Sycological Equipment	9,685.73		
			Television	16,506.13		
			Top Ro	1,319.39		
			TOPINO	1,515.55		
			Current Assets		7,19,821.52	
			Closing Stock		1,10,021.02	
			Cash-in-Hand	253.00		
			Bank Accounts	1,76,519.52		
			A.G.S (Other Fees)	5,312.00		
			Deep Edu. So. (FDR Endownment Fund A/c)	5,36,947.00		
			Deposite (Assets)	500.00		
			Electrical Security Deposite	290.00		
			Excess of expenditure over income		2,89,08,065.34	
			Opening Balance	2,41,47,761.60	2,00,00,000,04	
			Current Period	47,60,303.74		
				, , , , , , , , , , , , , , , , , , , ,		
Total		3,23,99,371.00	Total		3,23,99,371.00	

DEEP EDUCATION SOCIETY

Chairman

## DEEP AGS COLLEGE OF EDUCATION ( B.ED ) FIXED ASSETS SCHEDULE AS ON 31/03/2023

Particular of Assets	W.D.V AS ON	Addition	Date of	Period of		Rate	Depreciation	W.D.V As On
rurticular of Assets	31-03-2022	During	Additions	Holding for	Total	Allowable	Allowable	
		the Year		Addition	Total	under I.T %	Allowable	31-03-2023
BATTERY	1091.00			>180	1091.00		162.65	
				7100	1091.00	15%	163.65	927.35
BIKE	12193.25			>180	12193.25	15%	1828.99	10264.26
				7 100	12195.25	1370	1626.99	10364.26
BOOKS & PERIODICALS	16008.00			>180	16008.00	40%	6403.20	9604.80
		5914.00	08-09-2022	>180	5914.00		2365.60	3548.40
		9683.00	27-02-2023	<180	9683.00	20%	1936.60	7746.40
		8200.00	09-12-2022	<180	8200.00	20%	1640.00	6560.00
DI III DING CONSTRUCTION								
BUILDING CONSTRUCTION	2144725.20			>180	2144725.20	10%	214472.52	1930252.68
CASSETS	46.80							
0/100210	46.80			>180	46.80	10%	4.68	42.12
CCTV CAMERA	10162.60			>180	10162.60	1 50/	4524.20	00000
	10102.00			>100	10162.60	15%	1524.39	8638.21
CEALING FANS	4002.91			>180	4002.91	15%	600.44	3402.47
					1002.51	1370	000.44	3402.47
CLOCK	134.10			>180	134.10	10%	13.41	120.69
								120.03
COMPUTER	40.20			>180	40.20	40%	16.08	24.12
CYCLE	332.35			>180	332.35	15%	49.85	282.50
D.G.SET	395.25			>180	395.25	15%	59.29	335.96
DV D DI AVERA				100	60	1-0/		
D.V.D PLAYERS	695.30			>180	695.30	15%	104.30	591.01

3.8248	£4.08£	%0T	08.4088	081<	08.4088	UND SYSTEM
0.0099	17.4311	%SI	SZ.4977	081<	S7.4977	AMAJ AAJ
7.183.0	ZI.867	%OT	02.1867	081<	02.1867	IENCE MATERIAL
9.4221	11.912	%SI	SZ.O441	081<	SZ.O441	ЯЗІИТЕВ
9.428	25.4021	%SI	00.62001	>180	00.62001	NOBILE HANDSET
.S.488	£0.6Z	%ST	SS.£6£	081<	55.565	MUSIC SYSTEM
ZE.1762	84.£33	%OT	08.489	081<	08.4599	ІРМАККАГАМ
⊅9 <sup>.</sup> 699Z	TT.L74	%SI	27.041£	081<	27.041£	ІИУЕВТЕВ
02.754254	02,212,50	%ST	00.027802	081>	00.027802	ЯАЭ ІАПИПН
22.508	82.68	%0T	08.268	081<	08.268	ЭЯТАЭНТ ЭМОН
St.pp7t	6Z.70£	%ST	06.1202	>180	06.1202	нерр Рноие
10.8171	68.061	%0Т	06.8061	>180	06.8061	НАВМОИІОМ ТЕАКМООБ
16.7421	66.171	%0Т	06.6171	081<	06.6171	GRAOS SSAJÐ
66.898322	11.70222	%0Т	01.170222	081<	01.170222	<b>Е</b> БИВИІТИВЕ
17.81325	<b>₽</b> Z.8272	%ST	26.47888	081<	S6.47£8£	FRIDGE
8 <i>1</i> .261	24.12	%0T	02.412	>180	02.412	EDUCATION C.D

					S. in	•	
SPORTS MATERIAL	30119.40		>180	30119.40	10%	3011.94	27107.46
SUNDRY ASSETS	629.10		>180	629.10	10%	62.91	566.19
SYCOLOGICAL EQUIPMENT	11395.10		>180	11395.10	15%	1709.27	9685.84
TELEVISION	19419.10		>180	19419.10	15%	2912.87	16506.24
TOP RO	1466.10		>180	1466.10	10%	146.61	1319.49
	3100028.61	23797.00		3123825.61		352341.15	2771484.46

AMAN COCKA

DEEP EDUCATION SOCIETY